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1. Find the equation of the plane containing (0,1, 2) and whose normal is perpendicular
tobotha=1+7,b=j5—k.

~ —_ - T A z+y+2=3
-~ - o = f_ ,
]\/: a)"l‘D ;’LFJ*I( {I’,/) @—x+y+z:3
. C.z—-y—2=3
E?um‘:vn 078 the /9'&w< with s
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e VLoV‘MLZ N Col/l{at'bu'lﬂa [0/ 1,2,): E. None of the above

(~1)-x+ - (g9-1) + 1+ (2-2) =0

-x+(/ 12 =53

D.z+y+2z=-3

2. The distance between the plane
2r4+y+22z=4
and the point (1,7,2) is

Le‘é P:“’7’2)- A1

Choose ,oocw\L P, cu tle /p@me} B. z

e.q., po:(4, 0, 1) =

/(73{2, 12) s a nor wel vedor E. None of the above
to the ,-o&.bu& . ]/\7 P:)Zl g

The distnac D=llpr, RPll= ——=="= 3 =3
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3. A unit tangent vector to the graph of y = 222 at (1,2) is given by

Parqme%rtc e?un/flau\s 5+65
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At 4= 1 :’ /4 é) T =37 .
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4. A particle is moving with acceleration 47 + 6tk. If the position at time ¢ = 1 is
7(1) = ¢+ 3j + k and the velocity at time ¢ = 0 is 9(0) = ¢ + j, then the position at
time t = 2 is

Gl =47+ 6tk A0

B. i+ 45 + 10k

F -\ 7/ 5 = C. i+8j+4k
u’{%) *Sa[Hp“ * 2%+103+815

~ ~
LI “é :)‘7 + 3{;2 Zz, + C E. 2t4+8j + 8k
S‘\\MCQ- Jlo} = 74—7 ) ?:: (—7#7 ; ;/‘f}: ¢ +{9{+yff3f2é->

W/H"j()’[%)d% +C, = it (24%5%4)T+ 476 + G
Siwe A= +3]+tk, =0

Heu e F(Z):Z-i’f‘/ﬁf‘fgz
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5. Which of the following surfaces represents the graph of z = xz +y? in the 1st octant.

= Hl‘PT\C_ Pan a bo |oid .
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6. If f(z,y) = P (z,y) # (0,0), let £ be the limit of f(z,y) as (z,y) — (0,0)

along the y-axis, and let m be the limit of f(z,y) as (z,y) — (0,0) along the line
y = x. Then

© A =3, -9

Z (/(M 12[09') 2{_144 ’2. :0 @ZZO ;::2
e 40 (  m=2

C. £=0, m=3

= Hx™ D. £=3, m=3

m = f»:; #(x)f) x—w -Z—;(‘ = bt mol

7. Find a value of a for which the function z = 4 cos(x + ay) satisfies
0%z 0%z

57 =9 97

A a=2

Y gy (x+a a

ox ~ 15 b00)
%2 ¥ D. a=1
072 _ _y S (x+ag) @
2 X" (£)a=3
22 _ _yusinlxray)
o ¢
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8. Find the maximal directional derivative of
f(xayvz) =e” +ey _+_e2z
at (1,1, —1).

- X ivﬁ 227 - A. ev/3—2e
| fude ey zeklls

e‘z)‘_‘_ ez'},f_ e 4z C. 1v2—4e3

D. V2eZ e T
A{’ [{) {) _.'))

|V Pll= dz?}- et ye’l g Jogoes

9. Find symmetric equations of the line containing (1,2,3) and perpendicular to the
plane 2z + 3y — z = 8.

NOV”maZ vehor YLV tle //fzaue AZ‘(Z; b "0
S?le& '1L.m‘£, e?ua 7["014 S o'f %L:z &w& (o ttette ¢’(7
((,2.3) aud fmm//e C 4 (2,3 -1) cre

x-( - J-=_ 2-3
2 Y -
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10. Find the length of the curve
7 - - 3 —
Ft)=5i+7j+Lk 0<t<2

Fle)=+T + 47K
I F (Ol = Jex ¢ ¢4

|, - g I (O dt= _S L1422 dt = ¢§ F'a/clnél
{+1%u, zm =dy Y
L5 )
1 (57~
11. (a) Complete the following definition of fy at (0,0):
£,(0,0) = Tim 10/0/”)' F/Q_O_)
h
i, (@,9) # (0,0) |
z,y) = 3+ compute evaluating the
(b) If f(z,y) 0. (5.0) = (0,0) pute fy(0,0) by evaluating th

above limit.

7!(”) L4
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12. A right circular cylinder has a radius and altitude that vary with time. At a certain
instant the altitude is increasing at 0.5 ft/sec and the radius is decreasing at 0.2 ft/sec.
How fast is the volume changing if at this time the radius is 20 feet and the altitude
is 60 feet.

V= 7mr*h

/
IV _gqrrt h+nrih =
it o720 (-0.2) 60 #2070 =

T (-g0 + 200) =250 7 £7sec
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